0000000000CPY-5500

O00000&00000000 0000000000 00&O000000000

aoa

* (0000 MIFARE® (00

* [0000C0O

* (000

« J00000ORO00OODOC0ODOD MIFARE® O0000000/0 MIFARE® O00000000000C00
« J00000OROOCO00O0 20000020000 OO
« J00000OCOO0O00O 100000 Sonnano oo
« (0000000000000 00120000

« (0000000000000

* (00000

* (000000

* [00000oO00Cog

« (000000 MIFARE® 0000000000

adogo
0000oe.ovo4nsoo0ioon
00000<100pA
O0000<200mA
00000100000
0o00ooo4.sv

00000> 25mm
000000°CO70°C
00000=80[]

ooodo


https://www.proyu-tech.com/cn/news/High-security-Magnetic-lock-manufacturer-Finger-ID-card-time-attendance-company.html
https://www.proyu-tech.com/cn/news/High-security-Magnetic-lock-manufacturer-Password-ID-card-access-control-company.html
https://www.proyu-tech.com/cn/news/High-security-Magnetic-lock-manufacturer-Password-ID-card-access-control-company.html

. Part Name

)

_1 | Fromt k Assembily
Back Lock
Main Operation Area

- |@£

— || Battery Cover

Qs

Mortise E

(1= @“ﬂ
U
il
;

T
(o

Back Side Front

Part Name:

|. Hexagonal screw (M3*8)
2. Cylinder

3. Battery cover

4. Handle

5. Front lock assembly

6. Door

7. Square shaft

8. Back lock assembly

9. Fixing screw (M3)

A 10. Serew cover

11. Cylinder fixing screw (M3*70)
12, Wood screw (M4#235)

13. Mortise
















